La suite de corrigé (Série 3)

Exercice 2 :
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11= [ yf (x, y)dy = n(n=D) [ y(y = )" *dy =n(n-)"* = (L-%)" = @=x)" (" -1+ )

|2:j f(x, y)dy = n(n —1)j(y— X)"2dy = n(1—x)"*

Donc :
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E(V /X = x) =1z = @200 -14%) _ n-l+x
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Exercice 3 :
1)
E(S,./F,)=E(S, +X,,/F,)=E(S,/F, +E(X,,/F,)=S, +E(X,,,/F,)S,estF, —mesurable)

=Sn+E(Xn+1/Fn) (Xns+1 est indépendante de Fy)

= Sptm (méme loi X;)

2) E(z>/F,)=2z"E(z" I F, )(z*estF, —mesurable)
=z E(z%")(z*=estindp)

=7>G(z2)

3) E(ZSn) = E( ZX1+ X2+....Xn) - E( ZXl)E( XZ)E(ZXn) - (G(Z))n

Voir le corrigé de I’exercice 5, 6 et 7 dans le PDF.






